Aot P ol tiste] 24 = (P | Pc A} B AoTh A = {1,2,4} & T,
oS 5 A &2 A2
ON-X-% @ opc2 @{@}ezA
@ {pyc24 ® Ae2t
24 = (P|PcA) = JE A 9o REXTF AH3S on|gith
At A BEANL 0,{1},{2},{4},{1,2},{1,4},{2,4},{1,2,4}
ojt}.
o2t 24 5 dAihAyvydEdH o=z YEeEU H
{(@,{1},12},{4},(1,2},(1,4},{2,4},{1,2,4}} o]t
® (o} ¢ 24




Zte] 9] 309] ek} of tf

=
— T

1

(x| x

T
R
N fe) .
I
iy o) TR
o " o ol
S RN
kLR
e A N T ¥
S b S
mw o < o o
< R < <
ww B OR o
M oz REORE
o o o o5
T 5 X x =
__ww = o w
MY X RN N
s A
5 S 2@ @ %
0
w © A®“, ® @ ©

(10, 15, 30}
@ {10, 12, 15} ¢ A

A




3.

A={x|x=

@ {a) € A ot}
® @ c Aot

fa, b)o] F2A olth. th& T &A1 &2 A7

@)io) e 4 ole.

A ={o, {a},
® (o) = A

b}, {a, b}}
A 9] REYFIAT, A A 9 Aak ohh,




